)

= a® + 2ab + b?

@ (a+b)?

=a? - 2ab + b?

@ (a-b)?

a? - b?

® (a+b)(a-D)

@ (a-b)(a®+ab+b*) =a® - b?

® (a+b)(a®—-ab+b?) =a®+b>



o 199 AF+4 AGHE, AHH4 EFCD & E

A zFgo| 1, AD = a, AB = b 4uf, AH2+3

GBFH 9] Ho]&? Gr—H
B F

® a® - 2ab - b? @ a* + 3b* - 2ab

® -a? + 3ab - 2b* @ —a® + 3ab - b?

B —a? + 2ab — b2



3. (x-2y-3)°S A7kl xof et A0 2 Fajalr?

D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



@ (2% +2y?) - 2(y* - 3x?) = 7x?
@ (x+y)® =2+ 3%y + 30> +°
@D (x+y+2?2=x2+y2+22+2xy + 2yz7 + 22x

® P+ +(x+1)=x2-x+1



AT (x2 + 20— 3)(3¢ + 1+ k) O FAZRA ol 4] ARO] A4 15
Q) 4= k9] G2



7. oA (5x% 4 3x 4+ 1)2-2 AEtS o, 12 o] AlGE?

D 10 ® 13 3 16 @ 19 ®B 925



8. (2x% —3x% +3x+4)(3x* + 2x% — 2x% — Tx + 8) 2 HIHG AofA 3
o] A5E?

@D 31 ® 33 3 35 @ 37 3 39



9. (10°+2) 9] 7 Aele] £20] G Totolet.



10. a—b=10]2, &>+ b = -1 T, ¢! + b 9] Gt Fo}e?

D -2 ® -1 3 0 @ 1 B 2



11.

a+b=1, a®2+b*=

D -2 ® -1

10l 2000 | 52006 o
19 ), a + b2006 o] ZFo9

3 0 @ 1



12, F A gyl tiote] x2 43y =7, x+y=3 & o, x5 +y5 9] ZI=
T-shodzt.

s
=¥



